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N.B.: (1) All questions are compulsory.
(2) Figures to the right indicate full marks.

1. (A) Choose the correct alternative (any eight) :— I gl :
(i) Progressive elimination of government contro_ vvereconomlca vmes IS known
(Liberalisation, Prlvatlsatlon Globallsatlon) YRS ARSI
(ii) isa process of selllng government equrty to prrvate partlesr
(Liberalisation, Globalisation, Dlsmvestment) g B
(iii) The UDHR consists of a preamble dnd : ; W :”“‘.Larfticles. v
(20, 25, 30) LTSS E e AT A e
(iv) Philosophy of N A in‘ﬁfluenc'e,d. 'iFren‘cﬂb.Révolt_ltiOn; o
(Plato, Hobbes, Rousseau) & ol i F @ 8 & S @ el Py
(v) of: lndlan constltutlon prohrbrts untouchabrllty
(Article 14, Article 16; Artlcle 17) 4 ' =) o
(vi) Plant eating ammals are known'as .-
(Herbivorous, Carnlvorous, Omnrvorous) ol
(vii) o7 s graphlc representa' ofn of the tr0ph|c structure and
function. s 7
(Food cham Food web, Ecologlcalryramld) e .
(viii) The ~ - 'stressors-are also called jOb related stressors.
(Organlsatlonal lndmdual Enwronmental) ‘
(ix) Choice between two or more desmxble goals |s known as_______ conflict.
(Approach Approach Approach Avmdance Avordance -Avoidance)
(x) Lovisa negatlvejudgementofa group and its individual members.
(VaIue Ethlcs Prejud|ce) R
(B) State whetehrthe following: statements are ‘True or ‘False’ (any seven) :— 7

(i) -India-embarked on the process of l_lberalrsatlon in 1991.
(i) The maximum: number of farme" "»,smcrdes have occured in Punjab.
(i) Human rlghts are absolute &
(iv) ~ Articles 22-27 of UDHR are: concerned with civil rights.
(v)  Fundamental Rights are en_shrlned in Part lll of Indian constitution.
(vi) ~Contract Farming is: undértaken by large corporate firms either by buying
the landror“'tak_ing lan’,d::on'lease basis.
(vii) Chloroflurocarbons are' the primary causes of depletion of ozone layer.
(viii) Inaneco system therplants are primary producers.
(ix) Eustress is a negative stress.
(x) Racismis-an example of prejudice.

2. Explain the concept of ‘Liberalisation’ and evaluate the positive and negative impact of 15

liberalisation.

OR
Explain the concept of ‘Globalisation’ and discuss the impact of globalisation on Indian
industry.
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3. Define ‘Human Rights’ and examine the important landmarks in the evolutlon and development 15
of human rights. : Lo
Elaborate the provisions which guarantee ‘Right to Freedom’ Z'Uriderhln.dieh'C‘or,i's_tv‘i‘tiutio”n‘,

4. Explain the concept of ‘Sustainable Development’ and examlne its’ basnc components 15
Examine the meaning of stress and enumerate the major causes of stress

15

5. Critically evaluate Maslow’s theory of self—actualjzation;\;\‘*
Write short notes on (any three) :— -
(a) Advantages of Privatisation.
(b) Civil Rights. ~
Impact ofenwronmentaldegradatlon A
Significance of ethics in individual deveiopment
Types of conflict. :
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(Seritee=ar, STATRTebte™wT, Ffdaus)

(3) Wwwmwﬁmm FET AR
(30,R4,30) 7

(8) S BT I TSI HRO g,
(B, glest, B4T)

(4) g = IR 41 BT IR
(P 98, BT 9€, AT 90)
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